Doheny's Deluxe Stainless Steel Reel - Iltem#: 8111 & 7833

MSXB0 Screw

Locate ALL Components .

please make sure all of the listed parts are in the box.
_ M5X80 w/ M5 closed nut 1 65751
S M5X40 w/ M5 open nut 1 65752
P Casters 4

st Hende Tube Adapter T Bases 2 65754
Cotter Pins 2 65755

Dowels 2 65756*

Large Tube Adapter 1 657571*

Small Tube Adapter 1 65757*

Gaskets (washers) 3 65758*

Side Covers 3 65767*

Wheel Handle 1 65777*
cluded Parts: Fixations (steel pull brackets) 2 65788
-— 1/2" Screws 6 65789
Elastic Straps 1-3/4" Screws 6 657810

3/4" Screws 2 657811

5 : Elastic Straps 13 657812*

Tubes (2 small 1 big) 3 657813

Part Number Legend:
175 Screws Bold* = Parts that are sold
MEXA0 with “‘“?1— TPV Italics = Parts NOT sold but MAY be sent to customers w/ missing, defective or damaged parts up
M5 Open Hut > ol . Plain Font = Parts not sold or available (check warehouse to see if its available -if damaged, defect
iy Fixations

Washers |
LOoo [} 11l
"~
MMSXEB0 with / Cott;er Pins
M5 Closed Nut 2/26/2020

] l ‘ i—a.l'd” Screws

1-3/4" Screws




